I'pammaruka: 40.A: Past Active Participles : Form

C o po Ko Bo' ﬁ y po’ K 40.b: Past Active Participles: Meaning

Tekcr: ...C XEHIMHON, OKOHUMBIIEH [IpAHCTOH
4 0 ...with a woman who graduated from Princeton
l| 40.A  Past Active Participles: Form ||

-(B)w-...[cA]

A. Ifthe masculine singular past tense of the verb has an Ji, replace it with Bux (plus the proper CNG
adjectival ending). Be sure not to confuse the 1 in past active participles with the m in present active. One
trick is to think of the difference between npémuiblii past; previous (with m) vs. HacTosiuuii real; actual
(with ).

As with present active participles, -cs is always kept whole.

Stress is normally the same as in the masculine singular past. (Some double- and triple-stem verbs don’t
follow this rule, but this is a minor point.)

Masculine Past Tense Past Active Participle
(Non-Greasy Zeke) (in various CNGs)
MIPOYHUTAIT MIPOYHUTABIIIAS
CKazan CKazaBIiee
TTOJTY YU MTOJTYYABIIIHAE
Jan JIABITUX
aBaj JlaBABIIIEMY
YIIBIOHYJTICS YIIBIOHYBIIIECS
cren CHéBIINt
KpU4aI KpUYABILICH
HAvan HavyaBIIMMH (stress!)
BB BBIITHBIIINM

Unlike present active participles, which can only be formed from imperfective verbs, past active participles can
be formed from verbs of both aspects. Below imperfective participles are on the left, perfective on the right:

MTUCAJ // HATTUCAI MMACABITUMH // HAITUCABIITY IO
Opan // B3san Opasiue // B3SBIIEM
OTKPBIBAJ // OTKPBLI OTKPBIBABIIYIO // OTKpEIBIIEE
canuiicd // cen cagiBIIeMycs // cémrast
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B. For Greasy Zeke verbs, add just mr to the past tense, i.e. nuke the B of the ending used above:

Masculine Past Tense Past Active Participle
(Greasy Zeke) (in various CNGs)

moMor MTOMOTTITHIA
yMep ymépuiee (Note shift in stress ®)
HEC HEcIas
MPUBE3 MPUBE3IINE
EK MEKIITYIO
BEIPOC BBIpOCIIIast

(In other words, when forming past active participles, the ending-initial B acts the same as the a in the past tense:
it gets nuked by Greasy Zeke consonants, but remains for all vowel stems and non-Greasy Zeke stems.)

@ Form past active participles from the following verbs:
1. naymaii+ 2. Kymii+ 3. momor+ *
4. {Bo3bM+ /B3%+} 5. mexar 6. {ymp+ /ymep+ /ymepé+}
7. coBa+ 8. {Bcraii+  / BcTaBaii+} 9. BCcTaH+
10. cmac+’ 11. Gopd+..cs 12. mocMoTpé+

B. [uy] verbs can either: 1) drop the nmy and attach m (similar to Greasy Zeke verbs, as seen above), or; 2) keep
Hy and attach Bm. (It’s a bit complicated, but some verbs can only take one of the two endings, while other
verbs allow both endings.)

[Hy] Stem Past Active Participle
MPUBEIK[HY |+ MPUBBIKIIAN OF TPUBBIKHYBIINH
nucue3[Hy |+ ucué3HyBIas only
JoCTUT[Hy |+ JIOCTHUTIIICE OF TOCTUTHYBIIICE

I Exceptions: Some consonant stems in A and T act like Greasy Zeke verbs and nuke the B and attach ur; others
nuke the a/T and attach Bm. What a world!

Stems in o/t Past Active Participlec
npuBEn+" npuéamuii (€ > e - don’t ask why)
MET+’ METLIYIO
KIaj+ KIaBmmii (rare)
ynaz + YIABIIYIO
yKpai + YKPABLINX
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J. Note: Past Active Participle of mami (and related forms):

mén meénmuit (€ > e)

IpULIEN MPUIIEAIas

Just remember cymacméammii crazy (Literally: having gone out of one’s mind).

@ Form Past Active Participles from the following verbs. (This is a mixed group.)

1. BepHy+ 2. BepHY-+...cs 3. {yOwii+" / yOu+}
4. untu 5. Bém+’ 6. TpUBBIK[HY ]+
7. ykpai+ 8. 3amaTh 9. npuiiTH

As expected, past active participles are equvialent to clauses with koTopsblii in the nominative, and, in addition,
they also agree with the noun they modify in CNG:

ThI 3HACHIB KEHIIUHY, TPUHAIISKABIIYIO K 3ToMy Ki1y0y? (Feminine Singular Accusative)
Do you know the women who belonged to that club?

You can also pre-pose past active participial phrases:

S 4nTan cTaThio 0 ChEBIIEM TPUCTA COCUCOK NApHE U3 AnOHUM.
Literally: I read an article about a having eaten 300 hot dog guy from Japan.

% Put the Past Active Participle into the correct form:

MpI pa3roBapuBaiy O 4eloBEKe, padoTaii+ Ha rouTe.

S He 3aBUYIO JIFOMISIM, 3aCHY+ Ha JICKIIHH.

Ha xonnépre ObL1a sKAJ10Ba+...Csl HA BCE IEBYIIKA.

MBI CTOSTH PSIOM ¢ pebSTaMu, He HOCH+ MEPUATKH.

Kak s HeHaBrky npodéccopa, 3acTABH+ MEHS HAITMCATh OTPOMHYIO KypCOBYIO padoTy!
Kto cben 1aBHO HCIOPTHH+...cHl UKPY?

I'ne mapenp, cbé3au+ Ha TOXOPOHBI?

ol IS A O e

51 He TOMOT >KEHIIMHE, MOBECH+ KAPTY HA CTEHY.

9. Kyna nponana x¢HiuHa, uepmfu MOii makér?

10. Hans makoH@I yIuia oT My»a, 0e3 KOHI[A pyTaii+ e.
11. MBI cMesiuCh Hajl yPOHR+ KITFOUM HA TOJ aKTPHCOIi.

12. Tlouemy ToI pasOyani {cnu+ / eni+} B Apyrodit kKOMHATE MeTéit?
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[40.5 Past Active Participles: Meaning

Recall that all active participles are used to indicate what the subject is/was doing and are equivalent to clauses
containing KOTOpwbIH in the nominative.

One significant difference between present active and past active participles is that often there is no single-word
equivalent in English for a Russian past active participle. In other words, in English you can say The dog barking
at the car once bit Ruth Bader Ginsburg, (which is equivalent to a present active participle) but not The dog
barked at the car once bit Ruth Bader Ginsburg. (which is equivalent to a past active participle). Instead, a whole
phrase with ‘who’ or ‘which/that” must be used in the translation: The dog that was barking (that barked) at the
car once bit poor Ruth.

The difference between imperfective and perfective past active participles is parallel to the difference between
imperfective and perfective past tense verbs:

Imperfective past active participles = who was singing; who had been drinking; who had lived in Moscow; which
was hanging; that was bothering me; that was located, etc.

Perfective past active participle = who bought a new car; who drowned in the lake; who fell in love with her at
first sight, that broke suddenly; which fell off the table, etc.

Compare:

Imperfective Perfective

UYenmosék, BCE BpEMS 3a1aBABIIHIA Yenosék, 3a1aBmii mpodéccopy
npodéccopy Taynbie BONpOCH], HA TIIYIBIA BONPOC, HA YepTa HE
4epTa He TOHUMAET. MOHMMAET.

The person who kept asking the professor | The guy who asked a stupid question (this
stupid questions doesn 't understand one time) doesn’t understand anything.
anything.

@ Transform these koTOpbIN clauses into participial phrases:

S1 guTaN 0 My3BIKAHTE, KOTOPBIA COYMHSAIT CUM(OHUH.

Be1 3H4eTe IeBHITy, KOTOpas 1Ména Molo JIoOouMyto niécHio? (Pre-pose!)
OHna ObLIA HEZAOBOJIbHA IETHMU, KOTOPHIC HAC HE YBAXKAFOT.

Mrinra nogomén K mapHsM, KOTOpble HEJABHO MPHUEXann B AMEPHKY.
B xopunope cTost My)K4iHa, KOTOPBI OTBBIK TOBOPUT ITO-HEMEITKH.
Ha cobOpanuu 0buTH KOpEUTIBI, KOTOpBIE yUriuch B Béne. (Pre-pose!)

51 TepnéTh HE MOTY MAPHS, KOTOPHIH 3arep MeHsl B BAHHOH.

el A A e e

S He 3aBUYIO JIFOMIIM, KOTOPBIC BEpHYIUCH B AslOdnuto. (Pre-pose!)

9. Ter 3amérmut aéBymIeK, KOTOPBIE CTyJaH B ABEPH?

10. MHe OBIIO KAJKO YeJIOBEKA, KOTOPBIA CKYJAJI O MOAPYTE.

11. Ilo mibémaayn ryssin My>X4iHa, KOTOPBIH OTATDKUBAI BceM NEHBIH. (Pre-pose!)

12. Kons nomydisn mucbMO OT CBOMX POJCTBEHHUKOB, KOTOPHIE BeIpocin B CtamOye.
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40.b.1 A Potential Problem with Translating: Relative Tense
Sometimes Russian allows either a past or present active participle. Consider the sentence:
IIpodéccop, unTaBimii IEKINI0, MHOTO TOBOPUI O BOMHE

How should this participial phrase be translated? Does the use of the past active participle indicate that the
professor had (previously) given the lecture but was no longer giving it when he talked about the war? Not at all.
Most Russians (I have asked about this) say that there is really no difference between the past active seen above
and the present active, as in:

IIpodéccop, ynTaromniuii IEKINI0, MHOTO TOBOPUJ O BOMHE

If you really want to emphasize that something had been done previous to the main verb, use a perfective past
active participle — when possible. If the action is inherently imperfective — as in the above example — the
distinction is more or less lost. Often an adverb is inserted that helps to clarify the situation.

This applies only when the main verb is in the past. If the main verb is in the present, no ambiguity arises: A
present participle indicates that action is still in progress, while a past participle (imperfective or perfective)
indicates that the action is over.

JléBymka, mprommas HeMeEnKoe MIBo, yauTcs B ['apBapze.
The young woman who is drinking German beer goes to Harvard.

JéBymka, miBIIas HeMEKoe N1Bo, yuurcs B ['apsape.
The young woman who was drinking (but is no longer drinking) German beer goes to Harvard.

To be honest, this can get very complicated. (It has to do with the meaning of both verbs.) Don’t lose too much

sleep over this. (A manérock, 4To BEI HE OyeTe cTpaaaTh OeccOHuIe u3-3a 3toro.) And don’t forget, these
forms are limited to the written language. (Normal) people do not use them in speech.
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[40.B Past Active Participles: Text

Another warning: This text contains an ungodly number of past active participles, and would strike even the most avid
participle lover as “over the top”. Even worse for many Russians are many of the pre-posed participial phrases. Still, the
point is that if you can understand texts like this, everything else will be gravy.

o

[—
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11

Ha qHsx s mo3HakOMMIICS ¢ OJTHOM >KEHITUHOM 110 iMeHn Hatama, okénumBieii [IprHcToHCKUT

yHUBepcUTET. OHA OBLIA OYEHB MOXOKA Ha OIHY MOIO CTAPYIO 3HAKOMYIO, BEIIIEAIIYIO 3AMYXK 32

00raToro u xecTOKOro npodeéccopa MOILCKOTO A3bIKA, CTPATABIIETO B NETCTBE OeccoHmme. Tor

OBUT ABAMK/IBI )KCHAT: B TIEPBBIN pa3 Ha OJHON cyMacII¢aeii KaHaike, B MPOILIIOM TOIY

YTOHYBIIIEH B 03epe, a OTOM Ha XECHIIMHE, poauBiIeiics B OpiBieM CoBérckoM COr03€ 1

BhIpocuieil B Piime. JIéBymika, ¢ KOTOpOii s MO3HAKOMMIICS, CKa3aJla, 4TO OHA B MPOILIOM IOy

OpoOcuia cBOerd 44CTo KOKETHUYABIIET0 C APYTUMH KEHIIMHAMU MyXka. Ternéps oHa

BCTPEUAETCS C OJJHIUM UYEIIOBEKOM, JOCTUTIIMM (JIOCTUTHYBIIMM) OOJIBIIOTO yenméxa B OH3Hece.

Harammna nBorfopoaHas cectpd, yurBiasics: Ha uctdake B Méne, mozHakOMma e€ ¢ 3Tum

YeJI0OBEKOM Ha BEUYEPUHKE, KOTOPYIO YCTPOMI OJIMH MY>KUYMHA, BEIPOCIINI B BOCTOYHOM

(3damagnoii) Cubupu. OHI cOOUPAIOTCS MOKEHUTHCS B MAE.

CnoBapb

OKOHYH+ YHUBEPCUTET

graduate from a college (No preposition ot in Russian!)

3 | KEeCTOKHUH cruel

3 | TOT here: the latter
4 | IBAXIBI twice; two times
7 | KOKETHHYAN+ C + instrumental Sfirt with

8 | mocTur[nyl+ + genitive achieve

8 |ycméx success

8 | Or3Hec guess

10 | BOCTOYHBIN east(ern)

11 |3amamHbIi west(ern)
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g YnpaxHéHune 1  Translate the text into natural sounding English

JomawHee 3apgaHue

,@5 YnpaxHéHue 2 Form Past Active Participles, when possible. Use any CNG you wish

1. ckazar

3. TpUBBIK[HY]+

5. nmartb
7. wunTh
9. BcTaH+

11. {BEIIbii+ / BBITIH+}

2. TroBOpH+

4. cMmed+...cq

6. {ymp+ / ymep+/ ymepé+}

8. BepHY+...cq

10. méx+’

12. yuifi+...cq

2$  Ynpaxnénue 3  Fill in the blanks with the correct form of the Past Active Participle

1. TI'me mapens,

CBOUX POJUTETICH?

saved

JEHBIH Y OETHBIX.

2. S He yBaxaro 3THX JIFOIEH,

3. S BmoOwics B IEBYIIKY,

stole

CBOEMY JIPYTY.

4. OH ucnoOpPTUI KAPTY,

cheated on / was unfaithful to

HaJ KPECTIOM.

5. Yto BBI 3HAETE O YEIIOBEKE,

was hanging

Ha KOHIIEPT C 4YeMOJAHOM?

6. MHe He KAJKO AEBYIIKY

arrived

7. Te1 ObUT 3HAKOM C YEIOBEKOM

overate

BUEPA HA JHE POXKICHUS.

ot paka?

8. S yBaxaro cTyaEéHTOB, OBICTPO

9. Uro THI 3HACIIH O AEBYIIKE,

died

k orone B Cubnpu.

got used to

B 03epo?

10. 4 3aBUayrO 4enOBEKY,

fell

who achieved
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